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s F 1,318 1,845 40.0 15,933 | 16,913 6.2
74 Lt Ct 421 514 22.1 4,196 4,769 13.6
& & ot 6,120 7,440 21.6 60,732 | 65,630 8.1
(HI EZ 1,532 2,060 34.4 13,334 | 16,447 23.3
(& 3) 141 139 A1.6 1,490 1,687 13.2
(dotz=2) 585 808 38.1 7,284 6,770 AT A
(ch  2h 1,428 1,443 1.0 15,041 14,134 AB.0
E 5,620 7,730 37.5 57,726 | 72,004 24.7
E 7,932 9,967 25.6 80,007 | 87,121 8.9
F Yo 1,351 1,516 12.2 13,736 | 16,388 19.3
Sg=ulelst
C 19 1,232 1,705 38.4 10,990 | 15,704 42.9
s T A 246 278 13.3 2,549 2,643 3.7




Ch. &<
(SH9) : B0 22, %)
- o 174 10€ ‘184 108 EHE
HW+g [ FE28 | U8 | FEE | U8 | &8
1. 2 H X 5,462 276 | 7,386 355 35.2 28.7
o3 E 432 1 709 1 64.1 53.4
o AF AH|X| 1,390 33| 1,980 46 42.5 39.9
(i) 26 4 51 9 96.7 112.1
(F= &) 66 0 88 1 32.3 0.0
O LT AH|XY 2,030 222 | 2,472 284 21.8 27.8
(ZHHHE) 344 28 457 35 32.7 23.5
(&8%t 787 46 829 72 5.4 56.3
(=) 6 46 34 45| 436.6 N0.2
(BZEE) 28 0 37 0 35.8 0.0
o H|Lf7L AH|XY 1,610 19| 2,225 23 38.2 19.1
(el &) 947 3| 1,351 3 42.7 5.4
2. ¢ X A 10,298 | 8,115| 13,624 | 11,862 32.3 46.2
o =B 3,646 | 5,207 | 5,461 | 8,111 49.8 55.8
o = 1,211 467 | 1,292 530 6.7 13.6
o 43¢ ¥R 420 159 557 193 32.4 21.6
o 7 X 81 3 91 5 11.8 59.3
oM 7 R 202 97 258 149 28.1 53.6
o 3t 3 & 2,182 | 1,291 | 2,818| 1,706 29.2 32.2
o H &L X 993 399 | 1,205 582 21.4 45.9
o HHEHFH 674 263 795 286 18.0 8.6
o 7|Et 889 230 | 1,146 299 28.8 30.2
3. Ak &2 = 8,373 | 5,333 | 9,657 | 5,595 15.3 4.9
o ARt HUT(7 3,640 674 | 4,020 766 10.5 13.6
o MI|-™MXL7|7| 4115| 4,499 | 4,810 | 4,604 16.9 2.3
(HES47]7]) 1,718 763 | 2,223 716 29.4 NB.2
(BEZH|) 878 | 3,190 910 | 3,208 3.7 0.6
o = & Ty 514 145 695 213 35.3 47.2
o 7|Ef 105 14 131 11 23.9| £~20.4
s A 24,133 | 13,723 | 30,666 | 17,811 271 29.8

_14_
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A=K &
(B4l : 40 2py)
- = |74 10& (184 10& =10 1’171?)% 1’1?5% =104
M A 6,935 6,466 -469 82,011 61,078 | —20,934
o = 1,279 1,387 108 14,745 10,787 | —3,957
d 2 -2,571 -2,175 395| -23,599 | -20,577| 3,021
E U -402 472 874 —1,249 —4,710 | -3,461
s F 544 | -1,022 —477 2,074 -8,719 | —10,793
7 Lt Ct -112 -8 103 -148 51 199
= g of 6,075 7,821 1,747 61,636 73,847 | 12,211
(H E ) 2,332 2,197 -136 25,949 23,568 | -2,381
(& 3) 3,516 3,746 230 29,885 38,351 8,466
(Motz=) 312 108 -204 2,318 2,430 112
(CHh ot -290 1,121 1,411 -2,657 2,977 5,634
5 3 -3,960 | -6,133| -2,173| -37,632| -53,409 | -15,777
E 4,648 4,829 181 34,264 49,582 | 15,318
E & o] 536 1,216 679 9,848 7,393 | -2,455
SE=7 e
C 1S -650 -635 15 -3,136 -6,809 | -3,673
=T d 619 1,174 554 7,296 9,164 1,868
£ 3 SHOF ARNS B2, AJIEE, (2] AXO| LEEUS,



EXEHEEE &)
1. =& 43X
ot 2=
(EHS) @ BHOF 2oy, %)
T = 174 10 |'184 10 =2= 1171%% ’ j?;_% =15
1. A2 2 AR 611 673| 10.3| 6,310 6,507 3.1
2. 217 2 oz 3,806| 5,499| 44.5| 34,615 46,146| 33.3
o MRHE 3,209| 4,812| 50.0/ 28,316/ 39,369| 39.0
3. 243 M= 2,659| 3,046 14.5| 29,966| 29,594| A1.2
o o 7 At 115 118 2.4 1,161 1,224 5.5
o A= 386 404 4.7 4,320 4,294| A0.6
o oF 152 175/ 15.5| 1,649/ 1,731 5.0
o 1FEl0j0] & RE 259 285 10.1 3,074| 3,009| A2.1
o = 52 39| A24.4 483 358| A26.0
o BO|F 229 294| 28.2| 2,388 2,748 15.1
4. =3t SUE 40,077| 44,841 11.9| 404,274| 422,915 4.6
o 3t 3 & 5,482 6,412| 17.0/ 53,490, 61,829| 15.6
o HUHME 3,450/ 3,990| 15.6| 39,339 40,667 3.4
o ARt HUY|7Y| 4,712| 6,225/ 32.1| 51,760| 57,583| 11.2
o MI|-MAHM & 17,763 19,428 9.4| 156,422| 181,165| 15.8
(ZHHHME) 688 618/ A10.2| 7,047| 5,999| A14.9
(BEESA7(7]) 2,911 2,616| A10.1| 26,437| 24,875| A5.9
- AFH 804 750 A6.7 7,147, 8,925| 24.9
- FMEAT|7] 1,948| 1,668| A14.4| 16,610 13,970| A15.9
(Bt = A|) 9,746| 11,830| 21.4| 80,601| 109,376| 35.7
— H™C|HIO|A 1,087| 1,021| ~A6.1| 12,220/ 10,333| A15.4
o = & | 7,840 7,584 A3.3| 95,159| 71,371 A25.0
(E2X=XR}) 2,450| 3,640| 48.6| 32,202/ 30,987 A3.8
(AtSAHRE) 1,691 1,934| 14.4| 18,855| 18,570| A1.5
(M gh 3,207| 1,146 A64.3| 38,940 16,585 A57.4
= A 47,153| 54,059| 14.6| 475,165| 505,162 6.3
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Lt =JHXIS)E

(49| : B40F =2y %)
TR [17di0E fed 0 1’171%% 1’3?;‘2 -
M == 47,153 | 54,059 14.6 | 475,165 | 505,162 6.3
o 2 5,093 6,642 30.4 | 56,824 58,968 3.8
d = 2,056 2,808 36.5 | 21,708 25,436 17.2
E U 3,487 4,727 35.6 | 45,680 47,012 2.9
s F 870 802 AT7.9 | 17,949 8,106 | ~A54.8
74 Lt ct 289 521 80.0 4,065 4,774 17.5
= & of 12,952 | 15,542 20.0 | 123,091 | 139,940 13.7
(HE 4,112 4,157 1.1 | 39,312 39,910 1.5
(& 3 3,671 4,290 16.9 | 31,502 40,376 28.2
(Mrlz=) 1,053 840 | ~20.2 9,999 9,488 A5.1
(ch 2b 1,200 2,689 124.2 | 12,324 17,095 38.7
s 5 1,564 1,809 15.6 | 20,109 18,809 NB.5
E 13,088 | 14,608 11.6 | 114,071 | 136,261 19.5
s & o 2,454 2,287 AB.8 | 23,569 23,564 0.0

SE=7ldgt
c 19 621 1,024 64.8 7,865 8,853 12.6
s+ A 924 1,420 53.7 9,922 11,755 18.5

= D z2s2 MY SJ| OH E2S.

@ SHOI A= B2, AJIE2, (J2o AR ZELUS



2. 2SN &
(SE R =)

T2 [17d10d Med 0l o 1’171%'% 1’1?;“4% P
M A 9,297 5,581 | -3,715 | 82,229 60,970 | —21,259
o = 1,645 1,051 -593 | 14,636 10,317 | -4,318
d = -2,362 -2,149 213 | -23,737 | -20,551 3,186
E U -904 -268 636 | —1,060 -4,845 | -3,786
s F -448 -1,043 -596 2,016 -8,807 | -10,823
74 Lt Ct -132 7 138 -132 5 137
s & ot 6,832 8,102 | 1,270 | 62,359 74,311 | 11,952
(HI EE 2,580 2,097 -483 | 25,978 23,463 | -2,515
(& 3 3,530 4,151 621 30,011 38,689 8,678
(A7lzZ=2) 468 32 -435 2,715 2,718 3
(cf 2h -229 1,246 | 1,475 | -2,717 2,961 5,678
E -4,056 -5,922 | -1,866 | -37,617 | -53,195 | -15,578
E 5,156 4,641 -515 | 34,064 49,139 | 15,075
= o 1,103 771 -332 9,833 7175 | -2,658

%(Zb"%f%'@ ~611 ~681 -70 | -3,125 -6,851 | -3,727
s+ 3 678 1,142 464 7,373 9,112 1,739
« = SHOF ARls &2, AJIZE, (jote] AX0| L



